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A 26,190,342,972 30, 114,020,309 14.98
(B) 68,829,771 33,077,052 -51.94
(C=A-B) 26,121,513,201 30,080,943,257 15.16
(D) 24.,665,964,607 25.,516,314,733 3.45
(E=C/D*1000) 1,059.01 1,178.89 11.32
(&9 @ 2, F/FE. %)

( e FPIET ESIER z2s
) 1,591,337,764 2,159,311,583 35.69
(B) 20,736,157 7,511,721 -63.77
(C=A-B) 1,570,601,607 2.151,799,862 37.00
(D) 1,485,315,697 1,830,555, 650 23.24
(E=C/D*1000) 1,057.42 1,175.49 11.17

AGUES DY FAEHEE Y 2] SO 11.45%2 =4 ES AHEotASLICH. Hl WX+ UHIote 10.05% =2 =t ds5=
ER2H XN 2| RIS 2AE JISME 20110 JASLICH. XNE 3B S FAANES 2E GIBIISH 19 JH0l Ol0M =2
SAHS 2UI6HH 1900pE SWotH ZHZ detsgeou Sate) HdE8r =2 At 0= NESA 22301 FAHHAM TOAl =58t
a2 2011 ASLICH

AZOl 1900ptKl ASHME 20I8HAM JIEY =& 2 & EQ 2Mes UJRUH0E 22 L NAMS W82 =FoHE g 14
Olet A2L0UAE MEILE JHXIF X SAEFEZ MOt itEeE 252 EJASLIO. OetM M3 BHES 27 S5
ANZEQ ZAg 2| AXNIUCH =UE AN 22 =230 & ez 2&ELIT

BHEE AUXNCOZ JIXFE 0l ER6ID YD 2AEXZ o S22 AMES S8 G el US = A2U
SHEINAE 2FHUME NSHLZ Hlulls 0lae 4sAE 2012 JAsUT. SII2 Mals ERES0 s REs AXZH 0
g2= Soto FIIE 2F0A MBI M0l AHUHL SXNE0 dUECE =2 S S22 WM ==HotASLICH
LELEZE= IT, USA E32 HIESS FL400 UHE E SEI] 012 X Ol MBI datE D As 28F € EHF2 HISS
SHROM & HYS BE=2 s4NELA, KCZEH, CJ CGV, MOLMZ SO0l ASLICH

st=Z Mo AN JgE2 A M MEIF i, dc2ln M32lIIXE Orehel SRE 754 S0l RS2UTAH FAAFEL
ZADIZEDE OO XD ACHD SEFLICH Oetd 2 HENAM IS D A= MBI =S AEUA HEIOH &S AlDJIDt
CHtD ACHD BHEMH HY HHFAIZSS HO0Iot0 DBIEFS0 e 240 =02 X2 MY &% =2HES LEZL2
AEHR0 =eldt AMIE =80l &S LICH

SHEE 22 ZEZ2IR9 A3 22l FHotEA AFo HFLN TS S0l 5Eoto AEHQ Y XS0l st 2
g, 40 2XHOZ HEE0E ¥2 EIU0IEUMAM HelESel MBI JIXI=S0l et 20+ I SLLICH. L
CIAXIE St dAIEQ HHE SoiAd A SEXNHES DA WUHMOUE dd S0/ 25e HOMENWT =06t2 F st
=222 ol MEIt Mt Y= S5 SUAM =S4 JI2DIE Sol =& Al 0= JI22 42210 gLt

EL/ESE FI MEaes FIIHQ 2AF0AM=s HEIt IIXFES O 22 10 =g = A= 22 J20122 ENe 2lA3

el M U8 ZFNE UHlg = A= B35 ZEZCQ £E2 € H=YUT. X 342 i HEWME EHXIXOI

=0l NEJ AT HUHEHE SIS2 € WS NS H=0H 222 25 DHHEF0 U8 SOOI =02 20

OHEfAIDICH oile =0l tHet BYHIES =2 AYLICH. XS5EHD A= NS2IAUU HMEXN=20l OtEX 22 [H0A &=

FAMNEL =22 OF HdE X222 Ut UA2H Sol S= WEAFEUA &8 = AS W22 J|UHEHE &=

HEIIESS Fits & 2 458 = JAS A U, OetN 2 SIS S22 JREY0IUL HISS saiz2 AH=ut.

HES SHEIIE dilt= Z0OtL FIHE JIGIHAE N S3SE Y0l EF0tD AL € ALEZ ERESS2| JILIHXI

Chst Fetst 240 MEOHE R JHXF= 222 FIIF2Z RES 22 E = JAES HokAsUT.

NHUS DL SAETAE(FA) (&2 %)
= z2 1HE z2 33 z2 63 z2 93 z=2 14

YEENI2 1.98 11.45 18.16 20.38 23.37

(BMPNES 0.59 10.05 21.13 19.41 17.92

H
Hl 1w Xl 4= (Bench Mark) = Kospi Z&ZJtXl4= 90% + CD=2l 10%
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AMAUI NS SHAFIAE(FA)C1E (S %)
F= 2 1 2 3 2 6He 2 9g z=2 14
HEEXI|F 1.87 11.09 39 19.19 21.74
Hl w X %= 0.59 10.05 13 19.41 17.92
Hl WXl == (Bench Mark) = Kospi Z&=JtXI= 90% + CO=2l 10%
AU NS SASRAE (FA)AY (91 : %)
F= 2 1 2 3 Z2 6He Z2 g z=2 14
HEE X7 1.89 11.14 17.50 19.36 21.97
Hl W X == 0.59 10.05 .13 19.41 17.92
Hl 1 X1 4= (Bench Mark) = Kospi Z&Z=JtXl= 90% + CO=2cl 10%
NGUI DL SHSRAE(FA )43 (S : %)
F=E 2 1 2 3 2 6He Z2 9d z=2 14
HEEXI|F 1.94 11.32 17.89 19.95 22.79
Hl W X == 0.59 10.05 .13 19.41 17.92
Hl WXl 4= (Bench Mark) = Kospi Z&=JtXl# 90% + CO=2l 10%
AU NS SAS A E(F4])eE (S : %)
FE z=2 1 z=2 3 z2 601 z=2 9nd z=2 14
S EXI|F 1.91 11.17 17.55 19.46 22.20
Hl W X == 0.59 10.05 .13 19.41 17.92
Hl 0 X% (Bench Mark) = Kospi Z&=JtXl= 90% + CO=2l 10%
* 2 SENAES W AME UEY # 0l 2SHUE S&G= H2 Ot-LICH.
ANIUI N SHAFIAE (F4A]) (9] @ %)
T z=2 14 z=2 24 z/=2 34 z=2 54
HEEXIF 23.37 43.06 9.08
Hl W Xl == 17.92 36.06 3.29
Blw XI4=(Bench Mark) = Kospi Z&3JtXl= 90% + CD22| 10%
MU NS SASTAE (FA)C1E (4= %)
= z2 14 zl=2 24 2 34 2 54
HEEXI|F 21.74 41.21 7.60 13.42
Hl W Xl %= 17.92 36.06 3.29 8.20
Hlw XI4=(Bench Mark) = Kospi Z&FItXI= 90% + CDS32| 10%
ANIUI N SHF A E (FA)AS (&2l : %)
T =2 14 z=2 24 z/=2 34 zl=2 54
HEERIF 21.97 41.47 7.80
Hl W Xl == 17.92 36.06 3.29
Blw XI4=(Bench Mark) = Kospi Z&3JtXl= 90% + CD22| 10%
MU NS SAS A E (F4A)04E (< %)
= z2 14 zl=2 24 2 34 %2 54
SR F 22.79 42.40 8.56
Hl W Xl %= 17.92 36.06 3.29
Hlw XI4=(Bench Mark) = Kospi Z&FItXI= 90% + CDS32| 10%
ANAUI NG SHASENAE (FA)eE (&2l : %)
T =2 14 z=2 24 z/=2 34 z=2 54
HEEXIF 22.20
= IMPAES 17.92
Bl w XI4=(Bench Mark) = Kospi Z&FJtXl= 90% + CD22! 10%
* 9 ENARES WH AME UEY * 0jche 2SH4NE BEGt= J2 Ot LICH
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=_a
T =4 =[l=5 = =4 =[l=5

1 =4 LG3ter 6.17| 2 =4 ER=RSPN; 5.65
3 =4 S xt28 4.47| 4 F4 KT 3.95
5 T4 POSCO 2.82| 6 =4 st=28 2.44
7 =4 StLiZ & Xl = 2.20| 8 =4 LGE X< 2.08
9 =4 KB2 & 2.07| 10 =4 LGMEALSR 1.94
*

( http://dis.kofia.or.kr)
B &9 50 B

NS NHHLSHASAAE(F4]) (&2 @ =2 %)

5= 2R+ =2 M HI=

LGSt 155,270 26,861,710,000 6.37
[SE=FSPN; 29,139 24,622,455,000 5.84
S X2<B 287,834 19,486,361,800 4.62
KT 375,018 17,194,575,300 4.08
POSCO 27,133 12,264,116,000 2.91
¥ HIE @ A BHS oile &=01 XHKot=s HIS

W E 2HO 1% 21 52

NS NHHLSHASAAE(F4])

=3 2R+ I =Rl HIES gl

RE=spNi=, 727,265 1,330,894,950 0.32 1.26
CJ= 169,604 4,918,516,000 1.17 7.50
CIMLNE < 38,898 2,765,647,800 0.66 2.93
GS< 242,311 6,506,050, 350 1.54 13.58
GIIR 322,077 3,526,743, 150 0.84 1.94
KCZEH 112,350 1,898,715,000 0.45 2.20
KSSall & 440,977 1,898,405,985 0.45 3.80
LGMEAL SR 89, 121 8,457,582,900 2.01 4.24
LGS 156,941 5,022, 112,000 1.19 4.73




= 2R o= HIS gl 2
LGH Xt 214,643 9,057,934,600 2.15 1.25
LGOI AIAS 89,340 2,684,667,000 0.64 8.65
LGat&r 165,270 26,861,710,000 6.37 2.04
WISCOM 416,522 1,924,331,640 0.46 2.77
Faf=heisly 200,940 3,285,369,000 0.78 3.09
Lict oHC| 424,795 1,274,385,000 0.30 2.99
LA FetA 766,970 1,660,490, 050 0.39 2.09
H<B 344,626 1,474,999,280 0.35 1.77
oy 107,111 3,406, 129,800 0.81 2.82
asga 641,930 2,070,224,250 0.49 1.77
SO0LEHOI 314,532 2,799,334,800 0.66 1.33
SR 81,820 1,902,315,000 0.45 3.09
SEMY 35,672 4,601,688,000 1.09 1.06
s 30,930 1,926,939,000 0.46 1.40
S| o 347,206 1,433,960, 780 0.34 5.80
CIm et 122,648 1,355,260,400 0.32 1.06
g2 A TH 59,766 1,404,501,000 0.33 2.17
SN 111,028 2,464,821,600 0.58 1.01
SEEX] 63,272 2,065,830,800 0.49 4.52
DI 98,422 6,820,644,600 1.62 6.08
adEIIR 130,684 7,841,040,000 1.86 4.50
o2y 592,160 3,280,566,400 0.78 3.70
S4FED 43,590 1,647,702,000 0.39 3.4
ad=eg o2 429,496 1,653,559,600 0.39 2.00
SEMY 67,002 2,083,762,200 0.49 3.35
MIE250IM 266,698 925,442,060 0.22 2.53
MIOIEZ1&C 634,380 1,703,310,300 0.40 1.55
ALAIAH 18C 32,980 2,305,302,000 0.55 1.92
MHAD2 10,340 1,049,510,000 0.25 1.15
s 109,075 4,123,035,000 0.98 1.16
ObotE B LI 688,251 1,514, 152,200 0.36 2.46
O &I Al E 493,123 1,242,669, 960 0.29 4.49
(U[ESTIPN| 528,092 2,746,078,400 0.65 4.15
2ct 355,822 823,727,930 0.20 3.31
LA 399,451 2,081,139,710 0.49 3.1
=l 48,272 999,230,400 0.24 1.61
=stsd 131,454 2,017,818,900 0.48 1.16
QIAE Al DbA 64,556 1,542,888,400 0.37 1.61
2 600,397 4,124,727,390 0.98 1.08
20eE 265,095 1,007,361,000 0.24 2.93
BB & 476,967 2,277,517,425 0.54 1.63
PN FSONS 37,072 1,260,448,000 0.30 3.71
gt=3e 96,121 4,642,644,300 1.10 3.04
EEr=t=PNEES 407,633 4,952,740,950 1.17 6.96
st=J1 € 8ot 92,188 1,650, 165,200 0.39 2.03
gt=RXl 81,561 2,185,834,800 0.52 1.63
SEAE 125,833 1,837,161,800 0.44 1.08
StAA ™ 499,501 2,917,085,840 0.69 1.67
SHAIGI A242 EH A 510,887 1,407,493,685 0.33 1.61
stesa 304,053 2,839,855,020 0.67 2.39
SHAS 1,248,516 2,091,264,300 0.50 4.46
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